select isnull(t1.vynosy_odhad,0) / isnull(t2.kurz,27) from lcs.zakazka t1
left join lcs.kurzovy_listek t2 on t2.datum_listku = (convert(date, t1.datum_prijeti -1, 104)) and t2.kod_meny = 'EUR'
where t1.cislo_subjektu = 17206506
 

 select * from lcs.subjekty where cislo_subjektu = 14644368


 select isnull(t2.naklady_odhad,0) from lcs.zakazka t1
 join lcs.zakazka t2 on t2.cislo_subjektu = t1.zakazka_evidencni
 where t1.cislo_subjektu = 17206552

 select isnull(t2.smluvni_pokuta,0) from lcs.zakazka t1
 join lcs.uda_zakazka t2 on t2.cislo_subjektu = t1.zakazka_evidencni
 where t1.cislo_subjektu = 17206552
[bookmark: _GoBack]

select t1.SpisovnaSanon_T,* from data_omkis.dbo.Export_Spisovna_Sanony_zk t1
where t1.SpisovnaSanon_T = '10034' and t1.RokSanonu > 2008
--group by t1.SpisovnaSanon_T
order by t1.Cislo_Zakazky_Tv

select t1.SpisovnaSanon_T, t3.cislo_subjektu, t1.roksanonu from data_omkis.dbo.Export_Spisovna_Sanony_zk t1
join HEG_ostra.lcs.subjekty t2 on t2.reference_subjektu = right(t1.cislo_zakazky_tv,9)
join HEG_ostra.lcs.zakazka t3 on t3.cislo_subjektu = t2.cislo_subjektu --and year(t3.datum_prijeti) = t1.RokSanonu
where t1.roksanonu > 2008
order by t1.RokSanonu


select t1.SpisovnaSanon_T, t2.reference_subjektu from data_omkis.dbo.Export_Spisovna_Sanony_zk t1
join HEG_ostra.lcs.subjekty t2 on t2.reference_subjektu = right(t1.cislo_zakazky_tv,9) and t2.cislo_poradace = 10095
where t1.roksanonu > 2008




delete from HEG_test_denni.lcs.vztahysubjektu
where cislo_vztahu = 10438


select * from lcs.zakazka t1 join lcs.uda_zakazka t2 on t2.cislo_subjektu = t1.cislo_subjektu
where year(t2.datum_posouzeni) is null and t1.cislo_poradace = 10095

select top 1 * from lcs.subjekty



select t1.SpisovnaSanon_T, RokSanonu from data_omkis.dbo.Export_Spisovna_Sanony_zk t1
where right(t1.cislo_zakazky_tv,9) = '900001-01'

